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Commerce
Paper 1I

gyafent 11
Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

O : A NG THY U (50) SgTA WA fier amed. g e < (2)
O SR, ®WE YR el

e - esismn et shows the gap between | 1. ITEATen Heqd 3IfUT T g
government expenditure and TRIE TGO a4
" government receipts. '
(A) Hegel
(A) Revenue Deficit
(B) 3SR T
(B) Budget Deficit
(C) fafwa
(C) Fiscal Deficit &
(D) Primary Deficit (D) st g2
. R ——— is designed to make - g. i T srefeERd
necessary structural changes in the HCAICH e TS ST et
economy. S
(A) Monetary Policy (A) Hifssh &R
(B) Fiscal Policy (B) TSTISE EIT
(C) Credit Policy (C) Td &Rum
(D) Tax Policy (D) wfasgss €Ron
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........................ is less inflationary as
compared to indirect taxes broadly

in a scarcity ridden economy.
(A) Public Expenditure

(B) Public Debt

(C) Deficit Financing

(D) Capital Expenditure

Mahalanobis was of the opinion that
without adequate investment
1o VU , it would not be
possible to achieve rapid self-reliant

economic growth.

(A) basic heavy industries
(B) small industries

(C) medium industries

(D) agriculture sector
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The World Trade Organisation was

established on............c....c.c... .
(A) January 1, 1994
(B) January 1, 1995
(C) January 1, 1996

(D) January 1, 1997

The conventional Break-even

analysis does not assume

16211 AR SE— :

(A) selling price per unit will
remain fixed

(B) total fixed cost will remain the

same
(C) cost per unit will vary

(D) productivity per worker will

remain unchanged
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(A) 1 SHERI, 1994
(B) 1 SHErd, 1995

(C) 1 SMard, 1996

(D) 1 STHaRI, 1997

(A) wfa tHe famt geg fer w@a

(B) 9&d R ufisgg 9um Ui

(C) vfd T Ui sed Bid Teid

(D) gfa HETTE Scaeear fEeR

TR
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If the fixed cost decreases while
variable cost remains constant, the
new contribution margin in relation

to the old contribution margin will

bl .

(A) lower

(B) unchanged

(C) higher

(D) indeterminant

The funds required by way of
permanent working capital should

be provided By e s cnsmsses :

(A) Indigeneous Banks

(B) Commercial Banks

(C) Reserve Bank of India

(D) Proprietors
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TJAIRTS fee 31qar Rer aiegard e
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(B) feRr

(C) 3feh

(D) sfuifE
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(A) @Rt Afeenrem=
(B) =AU sTferenism=an
(C) fzd d% 1w sfearen
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10.

11.

Standard costs are useful to

determine the cost of a product as

(A) Predetermined
(B) Direct

(C) Fixed

(D) Historical

Which of the following standards
can be attained under the most

favourable conditions possible ?
(A) Basic standard

(B) Normal standard

(C) Expected standard

(D) Theoretical standard

THEPE B8 oo sssosmmmsmsnansanvs types of price

elasticity of demand.
(A) two
(B) three

(C) four

(D) five

10.

11.
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(A) gafAISd

(B) oI

(C) Fer

(D) Uferfah

waffus arme IRfeerda @refierient
FIUN YA e 0 I B ?

(A) HAYd THM
(B) 9™ 9HU
(C) 3Tuferd WHIY

(D) Tsifas =
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12.

13.

14.

Marginal utility approach was

finalised by......cccccoevvriennnn.nn :
(A) J.R. Hicks

(B) Alfred Marshall

(C) J.5. Mill

(D) A.C. Pigou

Opportunity costs are also known

as :
(A) Spill over costs
(B) Money costs

(C) Alternative costs
(D) External costs

Price effect in indifference curve

ATALYEIE APTEEE e s ons sasmns ssus .

(A) When the consumer becomes
either better off or worse off
because price change is not

compensated income change

(B)

When income and price change

(C) When the consumer is better off

due to a change in income and

price

(D) When there is unpredictable
change in income, price and

demand

12.

13.

14.
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fqmra 3wt gt fAfdde 9=

H’?‘,[(\['oql qr{oqqlqﬂ ...................... %
qRYTIeHE e AR

(A) wenfed wiiera
(B) Hifs e
(C) Tl 9™
(D) =T 9ieTa

(A) HeaREdaren gad 3cd-1 ardesrd
Sgel 7 AT UTeehTe offefen feerdt

RO SYE] HUATHS
(B) egl 39— A0 oo I dged
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(C) Seq=1 S0 Geord greied agelye
Tresh gRerdd eam

(D) Seg1 AU, IqA T qod
T Uiedd sifAfvea e
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15.

16.

17.

Monopolist can decide.................... .
(A) Price

(B) Quantity

(C) Both price and quantity

(D) Either price or quantity

The median of 6 numbers is 25. If
the highest number is increased by
4 and the smallest number is
decreased by 3, then new median

i1 - o R—— .
(A) 26

(B) 25.5

(C) 25

D) 24

The measure of dispersion used to
compare the variability in the two

sets of observations is........c..cccoeeeun. :
(A) Standard Deviation

(B) Range

(C) Mean Deviation

(D) Coefficient of Variation

16.

AUG - 50211/11

(D) Hea fwar w0

6 3T HEATH 25 . ST Had Hal
3ieh 4 A orefaen snfor wafa S i
3 X w de, W A mEEE
3.

(A) 26
(B) 25.5
(C) 25

D) 24

17. <1 garen fieomdia faeeams=t ga
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18.

19.

20.

If the data set on (X, Y) is
(1, 6), 2, 7), (3, 8)} then

correlation coefficient between X and
Y iSemooooooieieeeennnnn, "

A) 0
B) 1
C) -1
1
D) -o

2
For testing the null hypothesis of

independence of two attributes the

statistical test used is.......c............ .
(A) F-test

(B) t-test

(C) Chi-square test

(D) Z-test

The regression coefficient of Y on X
is —0.9 and that of X on Y is —0.4.
Hence the correlation coefficient

between X and Y is :
(A) —0.36

(B) 0.6

(C) 0.36

(D) 0.6
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18. (X, Y) & wmait 99 {(1, 6), (2, 7),

19

20.

(3, 8)} AT X 37fo1 Y Heftel Teaay

(A) 0
B) 1
) -1

D‘l
()2

< TUITHEI T Tt TRidehTe Tedreauit
W ....................... Hi@qchﬁlq 'CHT»{UFI

(A) TH-=T=OR
(B) JA-=memit
(C) +E-TRHSR =TIt
(D) Fre-=r=vi

Y §El X g8d IHsE e —0.9
31e 30T X |l Y el qe1sion 9eioren
~0.4 8. ®UHA X 0 Y Hefict Tedey

(A) -0.36

- (B) 0.6

(C) 0.36
D) 0.6




21,

22.

23.

Hygiene motivation theory is coined

BY ssumias sunenmass snemmnen .
(A) Abraham Maslow
(B) Elton Mayo

(C) Hertzberg

(D) Peter Drucker

Which of the following is the first
systematically stated theory of

Motivation ?

(A) Hertzberg’s theory
(B) Maslow’s theory
(C) Monistic theory
(D) McGregor’s theory

The essence of communication

- TOORS— .

(A) Transmitting information
(B) Sharing information

(C) Imparting knowledge

(D) Sharing understanding

21.

22.

23.

AUG - 50211/11
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(A) 3ToTEH HEA
(B) TEeA =R
(C) wgeri

D) R g

IR g Shoted! FagieR! A TS
e g fag@a s ?

(&) et fam

(B) T fagid
(C) wtfes fage

(D) "Rt fagm
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24. Which clause of listing agreement

25.

26.

~ is related to corporate Governance ?

(A) 39
(B) 49
(C) 59
(D) 69

Which one of the following is not

related to Business Ethics ?

(A) Environmental Ethics

(B) Social Responsibility of

Business
(C) Profiteering
(D) Ecological Consciousness

...................... Marketing strategy
involves the achievement of the
lowest cost position in an industry
so as to have more than average

profit by reducing prices.
(A) Differential

(B) Cost Leadership

(C) Price Leadership

(D) Differential Advantage
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24. HMRE TMRAw=a Tehoqael getam

25.

26.

A O T WA a2
(A) 39
(B) 49
(C) 59
(D) 69

GeATeTieh! v qe1 sFardra Frataared
REIEGE

(A) 9geRvig fdiaa
(B) Ha9™@™ 9IS <faa
(C) aﬁfﬁaﬁwm@h

(D) Stegstfauss o

e 3T fera s e wuEd
AT WIS H0ITEISt IR fegdia e
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.y A, attempts to acquire and | 97, e HE QX a9 J il
retain customers by contacting them e T HL0, U YTl 7110 Teehie
without the use of intermediaries. It foha Savaran T Hell S 1 g
involves distribution of products to TET TR AT e
target customers through inter- : gy
active communication.

(A) 3y faguH
(A) Indirect Marketing

(B) WerdATeHeh feraue
(B) Promotional Marketing

| (C) yay fogo
(C) Direct Marketing :
| D) gHifsiek faqum

(D) Social Marketing o

28. It is the concept that deals with the 28. suferren ffifdtendt fammrerigr & fafay
net result of all investments and qac1 9 W el ST @ Feheaen
efforts that marketers put into | = 7Y TBUE.
building a ..............cuuee.... .

8 (A) e Tou
(A)- Brand Value
. (B) srufe= wfgw
(B) Brand Image
(C) Sufax fsa
(C) Brand Loyalty
(D) shufas T e
(D) Brand Equity
11 [P.T.O.



29.

30.

The pricing method where different
prices are charged for the same
product by the company in
different market segments or zones

to attract different customer
BT, .c.icmsiancss i inis ;

(A) affordability based pricing

(B) psychological pricing

(C) differentiated pricing

(D) value pricing

The marketing concept that focuseé
totally on customers and t‘he
organigations entire gamut of
functioning related to value creation

and value delivery is ............ .
(A) Customer value

(B) Customer satisfaction

(C) Customer retention

(D) Customer relationship

management

29.

30.
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AT ASTRUSHES TahTe IcqIgATel

e fohma ddcsierR T e

TUEIeN STR{ hvar=a qedagarel

(A) &TaEEd Fegusadr
(B) TAERTSE Jequgdl
(C) favureas Joaugdl

(D) HeaAassia Jeadsadt

g faquE Feheg

TEHTHEH Teeh S0 T a1 S0
W Jea- i oo g werned
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31. The asset generally not suitable for | g1 SRR TR T ek TR HO=iTe
SeeUrItiSation 18, wevsimreminman "
...................... cemrT,
(A) Receivables from Government
(A) sy faurmerea it Sae
Department
(B) Trade receivables (B) =AY Aot
(C) Hire-purchase finance (C) w2 = fag Joft
receivables
(D) RO &
(D) Mortgage loan _
_ 32. Swltwio=a  gfwaa  sryfidrar
32. Under forfeiting, the client is able
to get credit facility to the extent frrafaqaehregy AT SR
v A of the value of oot glamr W 2R
export bill.
(A) 70%
(A) 70%
(B) 80%
(B) 80%
(C) 100% (C) 100%
(D) 90% D) 90%
13 {P.T.0.



33.

34.

35.

Efficient management of liquidity
and financial risk in business is

termed as

management.
(A) risk
(B) financial
(C) cash
(D) treasury

.............................. involves comparison
of different firms’ financial ratios at

the same point of time.

(A) Inter-firm comparison ratios
(B) Trend Ratios

(C) Time Series Analysis Ratios
(D) Projection Ratios

The : is the

explicit cost

equates the present value of cash
inflows with the present value of

cash outflows.

(A) present rate
(B) discount rate
(C) internal rate

(D) outflows rate

34.

35.
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I TUTAI.
(A) SifeEm

B) fox

(C) @

(D) SHIST

Teh! TAf¥TSe UM STAEE=AT STHRE
7 U fawerso

o~

fafay geuren fafa

(A) TR TErAl ST
(B) feorcaaR arqum

(C) HraHTA-forgato o s1gurd
(D) - S HEECE RG]

foemm qearen U@ S yaree 3
foemm qoar=ar sgyeTERil Hqed
37

A) faamm =X
(B) 9 €T
(C) Jaa =

(D) TRyEE I
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36.

37.

38.

~another

Management by objective is

Ao .

(A) result oriented appraisal

(B) leadership by example

(C) newer rating methods appraisal
(D) conventional rating appraisal

When production is decling in one
department and increasing in
department, where
additional help is required, some
employees from the former may be

transferred to the latter 1is

(A) Remedial Transfer
(B) Shift Transfer

(C) Replacement Transfer

- (D) Production Transfer

Social acceptance and friendship

(A) Safety
(B) Self-éctualisation
(C) Esteem

(D) Social

36.

37.

38.
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SEEY A §

e
(A) gfomETfEssa Hegar-

(B) SITETUM=A HIEHIGA A<
(C) SrofierTom=aT JeaHIAT=! A TS5
(D) TR Sufted HegHroH

Sregr el faura S FwH B d
TR Faura ¥ wred, o sifye A=
TS 374, el ShHaR! § Ueedl faymmd
@A/t fawre Seell el S,

(A) YR (remedial) E G|
(B) 3o/ 370 (shift) agel!
(C) TAr (replacement) EEll

(D) 3cgA (production) |
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39.

40.

Salary dissatisfaction is.............. P

and cause of low morale.

(A) Personal problem

(B) Job-related problem

(C) Organisational problem

(D) Environmental problem

Job satisfaction is measured by
asking questions and collecting
information on how employees feel
like behaving with respect to certain
aspects of their job is known

2 T .

(A) Rating scale

(B) Critical incidents

(C) Personal interviews

(D) Action tendencies

40.
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@I@Iqawl HAlslAld  eniYl 371%
(A) SFfFTTd qHE

(B) wrdGsfud qoea

(C) HuATH®: THE

(D) TATeRUCHS FHE
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HIIRN FEfaa el dedd Sl Jiadg
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41. A bank that offers wide range of | 41. S sifysniv faxig Famara MRy ST
financial services including TqaR S T fafae T
commercial and investment banking,

R AT e e
15 VErIEE 88 sssavsmmsssmsdmamms .
(A) Afyas Afupis
(A) Universal Bank
B) Theh 3AfHehl
(B) Unit Bank &)
(C) Multinational Bank (C) wgusra 31fy T
(D) Merchant Bank (D) afores (Merchant) 3ifushrs

42. The organisation that undertakes 49 St SeeT fafay yeREn SHesE da

corporate services and advises | )

9T &I AU HATISIT UIRHTAT
clients on fund based and

freftfaaeres a8= TaaveRfawaes do1 JeH
investment services 1s

m ﬁ‘w ........................ W
(A) Venture Capitalist (A) HEH WIETAR
(B) Merchant Banker (B) dftrer arfuhioes (Hee o)
(C) Underwriter (C) THRR
(D) Investment Bank )

(D) @A SAfEeh

17 [P.T.O.



44,

.............................. i1s a contract
Whereby the owner of the asset
transfers the right to use the asset

against the payment of fixed

interest.

(A) Lease

(B) Hire-Purchase
(C) Bailment

(D) Contractual sale

The norms on income recognition,
asset classification and provisioning

pertaining to advances and capital

adequacy are called

T — .

(A), general balancing norms

(B) prudential norms

(C) asset, liability management
norms

(D) investment and income

recognition norms

44.
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AT HIED FOI= HeTh

Foi=ar grgu=r Aferewir fafy=wd

=] Hegeard TIAARd .
(A) wreugt

(B) we TRal

(C) fagm

(D) F=A famt

Ieq=e AT, Ui ST on, ST
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(A) FE Hor e
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(D) Taavs oMo Ieq= feRe frew
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45.

46.

47.

When an asset ceases to generate
income for the Bank and principal

remains overdue for a period of more

than 90 days, it is termed as

(A) out of order loans
(B) doubtful assets
(C) wasting assets

(D) non-performing assets

An area designated by a Govt. of the
country for duty free entry of any
non-prohibited goods is called
G mnmpaan :

(A) special economic zone
(B) free trade zone
(C) foreign trade zone

(D) international commercial

markets

The attempt to conceal or disguise
the ownership or source of the
criminal activity and integrate them
into legitimate financial system to

acquire assets 1S .....ccccccevviiiiinnninnnn. ’
(A) Black Money

(B) Illegal Trade

(C) Money Laundering

(D) Black Marketing

45.

46.

47.
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Segl TEEl HWUxl SfieRTmeRar 3eq
femtor sndT TfiTa hXa STIfon Heatrs Feog
fearamyen 3ifeeh e aIgell Bd el 3
_q.q__ﬁ_(;n‘_ ................................ _g.‘q__\_ﬂ. 3:1@
TEUTAT.
(A) 3179 st
(B) Hfgry duxit
(C) FUTd FU=il
(D) FTcRs Howl
UTSITeT Il a1 &11d ShIvde! Y[eeh
feeafyrema gad WeeTHIel S ST e
m ﬁ?ﬂ Gﬂfﬁ W .................... aq_g,
TEUTATd.
(A) fagre enfds &
(B) T AR &
(C) foiwr =mR &

(D) SESEg IR ST

AT TR e Fdil Yl
LT Aufquaren siere seHaud
mﬁm@ﬁwﬁﬁwm
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48.

49.

50.

The bonds that are issued at heavy
discount and pay no interest but are
redeemable at par at future date

BB s vvunnonss isn swnsnsis ;
(A) Convertible Debentures
(B) Green Bonds

(C) Zero Coupon Bonds
(D) Govt. Security Bonds-

The exchange of goods and services
for goods and services where money

1S not used 1S ......ceeeriiiiiieeiinnnnne. .
(A) Cartel

(B) Swapping

(C) Barter

(D) Free Trade

A system of selling abroad at prices
lower than those charged in the

home or other markets is,............... .
(A) dumping

(B) quota system

(C) state trading

(D) quantity restriction

48.

49.

50.
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RIS TS AW HISTT FHTE TSI
T34 frifia se Saa, R = o
a ATE W AfasehTade TR fafirse
faforell Ty AR A el ST el

(A) TR J@

(B) 3@ T

(C) = =N T

(D) Y& gfage e

a1 i %= Heeedd  JentEm

TBUTATd.
(A) s 9=
(B) <amomEET
(C) agfaf
(D) & AR
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(A) TR °IT Gial I
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